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This paper is divided into five Sections AL I8,
C.DXFE Sceton- A{Shurt Answer Questions)
contuins one guoesiion of ten parts requining
short answer. All tlicse ren parts are compulsory.
Sections-B, (', D & E  (Descriptive Answer
Questions) cach contiing two questions. Attempt
one question from cach Section. Answer must
be descnptive.
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()  Using definition of the limit of a sequence
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(iv) Prove that the order of an element 'a" of g
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(v) State Cayley’s theorem.
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show that :

g (R,+,0) TF @A & FM abccR T

gqize %

a.(=b)y=(=a)b=-(ab).

(vi}) Define normal subgroup.
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prove that intersection of two subrings is a
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If sin(a +ig) = x+iy, prove that .
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